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Ratio (1)
Pages 118-119

1. a) Fruit sorted into 3 groups, each group containing
1apple and 2 pears.
b) For every 1 apple there are 2 pears.
For every 2 pears there is 1 apple.

2. a) For every 3 rulers there are 2 pencils.
b) For every 2 pencils there are 3 rulers.
Q) % = g of the objects are rulers.
d) % = 2 of the objects are pencils.
3. a) Answers will vary; for example, children could draw

6 triangles and 2 circles.
b) Answers will vary; for example, children could draw
4 squares and 10 circles.

4. a) Shapes and descriptions matched:
Left-hand shape =¥ For every 1 grey square there
are 2 white squares,
Middle shape =» For every 2 grey squares there is 1
white square,
Right-hand shape =» For every 1 grey square there
is 1 white square

b) 10 squares shaded grey, leaving 2 white.
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Ratio (2)
Pages 122-123

1. carrot

Lemon

There are 4 slices of carrot cake and 16 slices of lemon
cake.

2. There are 18 footballs and 45 tennis balls.

3. 27 squares shaded red and 45 squares shaded blue.
Explanations may vary; for example:
Work out the number of squares in total (72).
There are 3 + 5 = 8 parts in each group.
72+8=9
So, there are 9 groups of 3 red squares and 9 groups
of 5 blue squares.
9x3=27and9 x5 =45, so there are 27 red squares
and 45 blue squares.

4. a) There are 24 grey socks in the drawer.
b) 8 pairs of white socks can be made.
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Similar shapes
Pages 126-127

1. a) Yes, they are similar as they have a scale factor
of 2. The side of 3 squares has been enlarged to
6 squares (=2 x 3) and the side of 4 squares has
been enlarged to 8 squares (= 2 x 4).
b) No, they are not similar. The lengths have been
enlarged but the widths are the same.

2. Answers will vary. Check one triangle is an
enlargement of the other.

3. a) The scale factor is 3.
The length of side ais 15 cm.
b) The scale factor is 5.
The length of side bis 8 cm.

4. x=25cm y=25cm




image4.png
Solving problems involving ratio and
proportion
Pages 130-131

1.60+5=12
7x12=84
7 pencils cost 84p.

2. The perimeter of the patio is 54 m.

3. a) 300 g flour
6 eggs
900 ml milk
3 tbsp oil
b) Toshi needs 250 g of flour.
o) 675ml
d) Toshi can make 12 pancakes.




image5.png
Expected
5a. B 9cm, C 20cm, D 40cm

éa. True
7a. 15 strawberries, 10 grapes
8a. 80L white, 400L green

Expected
5b. B 3cm, C 12cm, D 4cm

6b. False. There will be 1259 flour
7b. 60 peas, 48 carrots
8b. 40L white, 56L blue




